SIkicHmMii cKJIa] MeJarorivHuX NpaniBHUKIB 3aKJaalaiB npodeciiinoi (mpodeciiiHo-TeXHIYHOI) 0CBITH

E y TOMy Ln/u.:ni
BHUKJIa1a4l =
£ 5 - g | 3 g 5
—_ = < — = s
22| 2 |EE| 2 |25y & . oalesl 5| Bl B |g2|EE| 3
: ; ; ; S S 15 ’ a g Q 2 < ElEB & = ) S E 2| 2 & g
Kareropis megaroriyHux mpariBHHUKIB Kon psanxa ‘g 3 £ = 3 g 5= = = o £ E E;E g Z g 9 g = 2 = ks
22| & |52 5 [388 2| 2 |E::5[2:f 2 || E |gE|25| ¢
5 s o £ =Y Q Q 8 59 X g S g 2 A =g =
[ = S " = S = A 8 8 glg 5 A = = 5 .8 ‘g E 2=}
2 E | ® 2 ZR[EFE S| 2| B
() %) < o B=i
o, 54
= =]
A b 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
2 32 IITATHUM PO3IHUCOM 01 61,55 1 3 1 24,6 1 23,12 | 14,13 8,99 2 1 1 1 2,83 1
2 (haKTUIHO 02 51 1 3 1 21 1 17 10 7 2 1 1 1 2 1
E Y TOMY YHCII JKIHOK 03 28 0 3 0 8 1 11 6 5 2 1 1 0 1 1
& BaKaHCii 04
2 JIETTyTaTH MiCBKHUX paj 05
2o B -
S 5§ & 9 |marors nepxaBHi Haropoau 06
5 & -
AT MaIOTh II04ECH] 3BaHHS 07
10 30 pokiB 08 2 1 1 1
31-40 pokiB 09 17 0 2 1 8 0 3 3 0 1 1 1 0 0 0
= 41-50 pokiB 10 8 3 5 1 4
A 51-55 pokiB 11 6 1 3 1 1 1 1
56-60 pokiB 12 11 1 2 1 6 4 2 1
Crapnre 60 pokiB 13 7 5 1 1 1
a
Z § _|Beporo 14 3 2 1
2
§ é“ ® |y Tomy umcni nenaroriuny 15 1 1
E‘ ~__|ocsity
" > % |Bcsoro 16 47 1 3 1 18 1 17 10 7 1 1 1 1 2 1
B =
2 |2z - -
S |T [y rowynmen nexarortity 17 37 | 1 3 1 9 1 | 17| w0 | 7 1 1 1 1 1 1
OCBITY
He maroTs BAIIOI OCBITH 18 1 1
3 Hux HaB4yaroThCs Y BH3 19
E 1-5 pokiB 20 4 1 1 1 1 1
& |6-10 pokis 21 9 4 4 3 1 1
& [11-20 poxis 22 23 3 1 11 5 3 2 1 1 1
£ [21:30 poxi 23 5 3 2 2
O  |Tlonax 30 pokis 24 10 1 2 1 6 4 2
[Tigpuenns kpamidikarii 25 25 1 7 17 10 7 1
KoHTpospHa cyma 26 51 1 3 1 21 1 17 10 7 2 1 1 1 2 1




